Rk I}
2t : (700) AFSIH (710) JHHIE ERRENEEEEE] (101) o124t L)
L = SN = .
Ol &F o4 o~ | B 2 =
g KE = Ol &b o
= 101,200,000| 96,300,000 4,900,000
700
Aroiy 2 5,682,044 4,954,228 627,816
710
cioiy 2 4,341,970|  4,872,796| ~ 530,826
751
S 4,341,970 4,872,796 A 530,826
100
olziso 3,488,542| 3921,460| ~ 432918
101
SE 3,312,442 3,703,240 A 390,798
3,312,442 3,692,080 A 379,638

4,238,100 x2H x 128

3,668,400 x21& x12&

3,172,300 x30E x 12& =

2,319,800& x7& x 128 =

1,642,9003 x 18 x 128 =

2,382,759,000& x1/12 =

381,430 x2E x 128 =

2,382,759

101,715

924,437

1,142,028

194,864

19,715

198,564

198,564

9,155




(751) Lerzrely| £ @ (101) 124] )
= rSENCS i )
o AF o = = Il =

O Houzgt 282,627

—HezeAry 46,621

52 3,668,4002 x 9% x4.1/100x 128 = 16,244

EIE 3,172,3002 x 18& x4.1/100x 122 = 28,094

72U 2,319,8002 x22 x4.1/100x 128 = 2,283

— H24oHa2 79,200

" 250 At 130,0008! X328 x 128 = 49,920

" 20 ~25 0|0 110,0002! x 152 x 128 = 19,800

" 15 ~20 0|0 80,0008 x32 x 128 = 2,880

" 108 ~15E 0|0 60,0002 x52 x 128 = 3,600

" 5E~100]9F 50,0008 x52 x 128 = 3,000

= 46,703

R 40,0002 x61% x0.78x 128 = 22,839

SIIEDLE 20,0002 x61% x1.48x 122 = 21,668

T SUILE(AAOF 014) 50,0002 x612x0.06x 128 = 2,196

S EET: =E S 16,983




(710) 2 HHIS Mgt o (751) 2Ekzetelt] £ @ (101) 12 (Sl - HJ)

= Ny o
Oil AF oK ol & ;; s 2 & = pJ =

TNSEW 463,990 x61Y8 x0.15%x43| = 16,983
— ALY 50,0002 x34H x 128 = 20,400
— ExYEY 72,720
PIE==1-E5= 16,680
* 55 50,0003 x2H x12& = 1,200
* 6~73 30,0009 x37H x 128 = 13,320
* 8305t 20,0008 x9% x 128 = 2,160
I|l=dESY Its 7,440
* JISE, JIA 30,0009 x14H x 128 = 5,040
* A DA 20,0002 x10¥ x 128 = 2,400
=R 150,0008! x 272 x 128 = 48,600
O A=Al 130,000& x61HEx12& = 95,160
O BE SOt 2,382,759,000& x1/12x60%%x23| = 238,276
O A2 4| 2,382,759,000& x 16/360 = 105,901

106 _ 176,100 218,220 A 42,120

APHHMA ' ' '
2,400 7,800 A 5,400(01 HHMZARLHAY|




(710) 2 HHIS Mgt o (751) 2Ekzetelt] £ : (106) AT (Sl - HJ)

= Ab OH a4 = 2 Ab = ] =
- Ol &F oM < - -
O & 100,000 x2H x 12& = 2,400
105,540 126,900 A 21,360(02 A= EXI
OFT= 250,000@ x2E x 128 = 6,000
OF = 155,000 x21E x 128 = 39,060
ON4=1 140,000& x30E x12& = 50,400
O 8~9= 105,000@ x8H x12& = 10,080
68,160 83,520 A 15,360 03 SEY PRI
O BIILSANESRE E+23H| 80,000& x61Hx12& = 58,560
O UIELERE 80,000& x3F x12& = 2,880
O s+2dAdgdeds23 80,000& x7Hx12& = 6,720
?ES;%HI 49,265 159,839 A 110,574
‘235('):&—‘3—% 46,865 56,393 A 9,528
46,865 53,825 A 6,960 01 At 2te|d]
O gBt=ZH| 46,865
— Oll&bA HIE 7,200
=S 30,0003 x80= = 2,400




(710) 2 Mgt (751) 2Btate|t] £ @ (201) LBtEHL] )
= Al OH @l sl B = o AF =
STl aaw | F =
= 30,0002 X805 x23] = 4,800
— JYWIt BN RO 4,000
20A 30,0009 x80% = 2,400
Cv= 20,000 X80 1,600
— DAUBIET H2EA S22 4,000,0009 x 141 4,000
— 2o R 45,0008 x80% = 3,600
— 2EZ0IH,22Y) AF+4+2 200,000% 274 Ak x 23] 800
— OilAMSI HIAI A E4(LOBAS) RXI2H2IH| 7,265,0008! x 14! 7,265
— Sl TANY ZAZA 222 20,000,000% x 14} = 20,000
2,400 19,660 A 17,260
2,400 3,160 ATE0|02  EEINARFZFY]
O AL REXYI(ZR60S) 40,000 x 60 2,400
804,163 791,497 12,666
799,571 786,697 12,874
674,377 659,714 1466301  oizRL3
Ogz=ea S 3,858,672,000% x 17.4769% = 674,377




) 2 5 : (710) ZAHIR AIEE : (751) Yeraely) 2 : (304) 2R3 = CLE-E)
4 = ooy | SE= 2t & s 9l
= = i
& |Kig = I R N - =
125,194 126,983 A 1,789(02 S0AHAEEREZ
O IALEESERE S 3,858,672,000& x3.045% = 117,497
O LRI QLEEREZ 117,497,000 x6.55% = 7,697
307
0I12H0| ® 4,592 4,800 A 208
4,592 4,800 A 208107 H2X==2
O Mol2aRY= 3,858,672,000& x0.119% = 4,592
Zg s 61,074 81,432 A 20,358
i 61,074 81,432 A 20,358
X201 KLHSHH ’ ’ ’
300
2 AHO| 61,074 81,432 A 20,358
81 61,074 81,432 A 20,358
B ’ ’ ’
61,074 81,432 A 20,358 103 SASBIN2X L 20] X4kt
O ST O TA (S H2IA L Ol FHHLZAY
1,620,000,000& x3.77% = 61,074
800
1,179,000 0 1,179,00
o b 20 0
801
N 1,179,000 0 1,179,000
801
N 1,179,000 0 1,179,000




(801) oIl

2 -
= .

(801) oildlHl

NEE

(800) ofilHl

|. .

100

1,179,000

%:

1,179,000,000

ol

|.

<

ol

Ol

O At

Klo

1,179,000

o 3r
<
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[ M5t4C8ED ]
21 (200) RHEXEXE 8t (280) HIRSSIHAE Mg - (283) S8JI2XES & = 1 (601) B2 (ol &)
5 = Ol AF oH @l sl B 2t AF = |
= = =
2| 8 |Higt = T o oo = = = s
200 1,707,958 1,243,955 464,003
NERXE T T '
280
HSS = ArS 540,000 540,000 0
283
2s)12Hea Bass >40.0001 540,000 °
601
Frol29l 2 ALE 540,000 540,000 0
540,000 540,000 003 SaFSIN&A XL IAZ &S
O 282 AS34H (S HelAld Ol EINEES AL 135,000,000 x43| = 540,000
800
1,167,958 699,705 468,253
WEIE]
801 1,167,958 699,705 468,253
L] oh ’ ’
801 1,167,958 699,705 468,253
EIE] e ' '
1,167,958 699,705 468,253
O X204k oigidl 1,167,958,000& = 1,167,958




(700) At H gt (710) 2EHIE Mg (714) 24 (101) el 24d )
o = rSRIE
Ol &F o g Z =
e, 2 Ol &F oA
1,984,525 2,031,755 A 47,230
e 1,943,725 1,939,499 4,226
[ 1,659,737 1,681,040 A 21,303
=] T T '
100
o212 oy 258,966 347,438 A 88,472
101 258,966 279,971 A 21,005
ifals] ' ' '
258,966 273,997 A 15,031103 SIAHAIZ A2
Oote= =43 22Y 168,658
—Ji=2=2 1,270,4703 x4 x 128 = 60,983
— &2 1,270,470& x4 x400% = 20,328
— HEFIHI 1,270,4703 x4 x120% = 6,099
— 5= (1,270,470 x128)/261 L x52Fx4H = 12,150
— g Xt==E 73,2103 x4 x23 = 6,736
— ZUGAlHI 130,000& x4H x 128 = 6,240
— &g 60,000& x4H x 128 = 2,880
— 2&0Nt=E 60,0003 x4Ex12& = 2,880
— F22RE 73,210& x150% x5 x4Hx12& = 26,356




(714) 2:94H|

(101) QI24H]

Jo

2

M

2
0l

E pli =

40,0008 x4 x 128 =

1,270,4703 x4&H x100% =

50,000& x4&x12& =

50,000 x4 x 128 =

70,0008 x48x12& =

1,270,470 x4B x10%x 128

9,150 x50A[2tx150% %4 &

1,211,080& x2E x12&

1,211,080& x2& x400% =

1,211,080& x2¥ x100% =

1,211,080& x28 x10%x12& =

100,000 x2& x 128 =

110,000& x 1 x 128 =

(1,211,080 x123)/261L x2E x 525 =

130,000 x2& x12& =

1,920

5,082

2,400

2,400

3,360

6,099

2,745

90,308

29,066

9,689

2,423

2,907

2,400

1,320

5,791

3,120




(710) SHHIE Mg (714) 2t01t] £ @ (101) 12 (Sl - HJ)

= Ab OH a4 = 2 Ab = ] =
- Ol &F oM < - -
— 2BIRS 50,000@ x2H x12& = 1,200
— WESE X 70,000 x2H x 128 = 1,680
— HEFIH 1,211,080& x2¥ x120% = 2,907
— 2tAal| 50,000 %2 x12& = 1,200
— 2R 9,920 x 150% % 3AI 2t x2H x 128 = 1,072
— 5222 79,3603 X 150% %3 x2H x12& = 8,571
— AR eS=E 79,3603 x2H x20L = 3,175
— == 40,000 x2H x 128 = 960
— g 50,000@ x2F x 128 = 1,200
— 30z F+Y 1,211,080& x1H x80%x 128 = 11,627
?E?; >4y 449,948 406,106 43,842
EE?:&_E_% 248,566 233,996 14,570
13,200 11,200 2,000 01 At 2te|d]
O fEss 28+ 13,200
— 07 3t==2tH BTL SutEIf1 3 =4 200,000& x6E x43| = 4,800
— 09 ot==2t4 BTL S MtE IR = 200,000 x6Y x43| = 4,800




[ Gt ]
2 1 (700) ALl 8 (710) AUHIR I © (714) 218] = (201) P2 &2)
5 = Ofl Ab oH @l sl B = o At = ) =
o |2 e = I T - -
— 10 ot==2H BTL S} E IR A = 200,000& x6H x33| = 3,600
235,366 222,796 12,570102 332l
O 3222 Y% HMHA 228,690
— 0|S&EID| SHRE XA(ELH) 60,000& x2CH x12& = 1,440
— 23X B 725,000& <20 = 1,450
— ANSIHHA S22 150,000& x2CH = 300
— QSHEIZE42MA) I, S 6,000,000& x12& = 72,000
— 22 ML AFZsDH 2 EE2 dRECEXNEES 100,000& x13| = 100
— Ot==&t1 BTL AFY 8 tEIt =2 89,600
° 07 St==2t24 BTL AFH 10,000,000& x43| = 40,000
° 09 St BTL AFS 7,000,000 x43| = 28,000
10 Ot==2t1 BTL At 7,200,000& x33] = 21,600
— dt=2t01 BTL AFY 29| 63,800
CShaB BTL AR 22T HERII(11914) M) SHRS
4,000,000& x12& = 48,000
* ottt o BTL At =& E4H| 3,500,000& x43| = 14,000




[ Gt=Z D]
B (700) AFRIHIE B (710) 2HIE ISt : (714) 24 = ¢ (201) wer2| COEE-E)
o = Mg | @EE . e
= = =
e s N B I R - =
St BTL At 2GARA I3 150,000 x12& = 1,800
O Xte ey 6,676
—32(2E) 3,338,000& x 20 = 6,676
206
2| 17,600 17,600 0
17,600 17,600 0101 BT Z HI
Odt=T AIdE B 7L 5,000,000& x 14} = 5,000
O otk =252 2 180,000 x 70 = 12,600
212
AN
=a)s M| 29,782 31,510 1,728
29,782 31,510 A 1,728101 ASIEERES
o428 12242 29,782
— otk =4 168,658,000 x11.5% = 19,396
— ot &&= 22 90,308,000& x11.5% = 10,386
214
AT DA 154,000 123,000 31,000
154,000 123,000 31,000 06 A& EHIRXIBI
O BIEAEE 2B BAIAS(GIS) SR 10,000,002 x 14! = 10,000
O ESHEBZE(42I04A) KXl 2,000,000& x42H A = 84,000




[ tEmt ]
B . (700) AFRIHIS B (710) FHIE AIg @ (714) B S ¢ (214) 2ERNDA| CLEEE)
5 = Ofl Ab oH @l sl B o5t At = )
= 2 Al = =
o |8 Mg 2 I B S =
O &4 = 24 |22l 60,000,000& x 14! = 60,000
300
>4 AHO| A 950,823 927,496 23,327
307
01210 F 750,000 750,000 0
750,000 750,000 005 RI”tRIEt S
O 223t o= AIEE 2l 750,000,000& x14] = 750,000
817 200,823 177,496 23,327
ilg s ’ ’ ’
200,823 177,496 23,327
Oot+=EAEZ REEs 2E3 200,823
— ol AIEE R8s 2ES(45) 20,082,210,000& x1% = 200,823
/ol 283,988 258,459 25,529
ezl ’ ’ ’
100
olz1 2oy 133,374 122,699 10,675
101 133,374 122,699 10,675
o121t ’ ’ ’
133,374 122,699 10,675 01 2
O =22+ 133,374
— A2 S=g(dEh) 9,332@ x23HX45A12tx 128 = 115,904
— A2tel S (HABIE 2) 0,332 13FX24AIAX6B = 17,470




[ tEmt ]

(201) LEH2HH|

2 -
= .

sl

3

oJ
oll

(751)

Nlet
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(@) <t <t (@] Al o [a\] o (@) (@) [e0) ™
- o o940 S © © ~ »uw S 9 ® 0
w <t — Yo} [V} — e0) [e0) [V} —
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wW T o o o W T !
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S 8 9 ¥ % g8 8 %
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f o S 9o 45 3 8
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K 0 S @
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=
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ol O o uJ
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W = T oo no
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MoDoB < xR =z < 30
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3 X o o8B 5 o5 oz X & o X
D Dk e Kl i3] R o o o) o I+
oll Ho
= 0O _ _ _ _ _ | SIS _
< <t o ©
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(700) AtHBIE g (710) 2gHI= Mg (751) Letateld = @ (201) get2g (el - &)
b = b JE = = =
= Ol &F <4 oT| E o g Z A = ] =
— &Gt g3l 7,600,000& x13| = 7,600
—5l4E AIRE DIANSY QERE 3,248
T et 300&x 1304 x12& = 468
=yl 1,930 x 12024 x 128 = 2,780
?H?HZI 81,000 62,520 18,480
81,000 62,520 18,480 | 01 =2Uodl
O 2N FH2 ZANHI(SE) 20,0003 x24H x 114 x12& = 63,360
O &=0e 22X K| 20,0003 x24H 3L x3& = 4,320
O oty e HRFX 0 60,0002 x4 x3Lx63| = 4,320
O ot==Ald8Y HRFANYI 60,0003 x3H x3 x53| = 2,700
O ot=&HIg8Y R F& 0| 60,000& x2H x3U x53| = 1,800
O ot=EgY HRFANY| 60,0003 x4H x3 x53| = 3,600
O 2NEHIg" gRFAAY| 60,0003 x1H x3 x53| = 900
(2;;$5U| 4,200 4,200 0
4,200 4,200 0(04 PA2EERFEHI
O BN2Y JRFTHI(HA 249) 350,000 x 128 = 4,200




[ Gt ]
2 1 (700) AHHIR 8 (710) AUHIR Mgt : (751) Lerzely) = 1 (212) Z2ISMY| () =)
m = oo | SE= ] = o & s I =
2| & Me = I I - -
g;éé‘ilﬂl 19,310 19,892 A 582
19,310 19,892 A 582109 JEt =2l = M|
O =&l 16,800
— St==MB YL ORRIZ22 X =4I| 7,000 x48x10Lx 128 = 3,360
— Ot AIEE Y ORIZ22A =4I| 7,000 x8H x8Yx12& = 5,376
— SAEHIZ T ORI22X SA 7,00081x3% x 82 x 128 = 2,016
— BB ATT ORIZSX SA 7,000 x62 x82 x 128 = 4,032
— BTG RIS SAH) 7,000 %32 x82 x 128 = 2,016
O o4 Fae 1=t 2,020
— &A= 130,000& x4H x23| = 1,040
— g5t 130,000& x4H x 13| = 520
— QtM St 35,000& x49 x13| = 140
— HAER= 40,0003 x4H x23| = 320
O o4& FHE 22l 1=t 490
— Yet= 130,000& x2¥ x13| = 260
— QtM 3t 35,000& x2Y x 13| = 70




(700) Attt S (710) FHE ISt (751) Lerprel] S ¢ (212) ZolEM| CEEEE)
4 = ooy | SE= 2t & s 9l
= = =
& [Mier = I B IR .
— HAERE= 40,000& x2¥ x23| = 160
“Z’SSWR 4,620 4,580 40
O 4,620 4,580 40
4,620 4,580 40(09 AZIERLIALBAZ
O ME=R2RE 4,620
—Jl2= 154,800& x1¥x12& = 1,858
— 34| 7,000@ x1Hx22edx12& = 1,848
— W &SH| 2,400@ x1H@x222dx12& = 634
— O=hl 140,000 x 1Y x23| = 280
Zg oy 2 40,800 92,256 A 51,456
771
O 40,800 92,256| A 51,456
i’qoiom 40,800 92,056| A 51,456
81 40,800 92,256 A 51,456
XIS 0l KA 8 : ’ ’
40,800 92,256 A 51,456103 S8 2 X 20| KAk
O EdlloteXel & AL (BES U201 40,800
—[3] 40,800,000& x 14 = 40,800




g 1 (230) REXAFS Mg @ (234) =2 £ (401) AIEHIZL 2] (Sl - HJ)

= P IE = = =
Ol &F <4 oT| E o g Z A = ] =
59,283,556 | 59,437,952 A 154,396
4,397,968| 2,527,353 1,870,615
4,397,968 2,527,353 1,870,615
4,397,968| 2,527,353 1,870,615
4,396,000 2,521,000 1,875,000 | 01 Al&HI
O st4== FHI(POOL) 500,000,000& x 14} = 500,000
O st4=& F4(POOL) 500,000,000& x 14| = 500,000
O FEIL Stll L2z B3 A 120,000,000& x 14! = 120,000
OEES YEXS £2 54T HAMSAHL=200m) 100,000,000 x 14! = 100,000
O =42 FelANE LA ES 20,000,000& x 14 = 20,000
OPEIIY 242 AXIBAH 80,000,0002 x 14! = 80,000
O &&= 158 NE otk HEF=SA 50,000,000& x 14! = 50,000
O 0g= 3= AU ot=% IHE=S At 50,000,000& x 14] = 50,000
O HEE 26,27,285 =8 ot+=% ZHISAt 100,000,000 x 14! = 100,000
O l== 398 =H ot==& HUISAt 150,000,000& x 1 &l = 150,000
OMES 418 FH ol JHIBAH 30,000,000& x 14| = 30,000




(230) RERAFS Mg @ (234) PEES S ¢ (401) NEHILRHY) (Er9l : &)

ol &F o g 5 w | 2 2 N

O &S MAH4el 2YA ot==2Z EXISA 40,000,000& x 1Al = 40,000
Odes @Fel ol== HHIZ2AHL=100m) 150,000,000& x 1A = 150,000

O #ZAe|SH Rkl =8 L FLE2 22lAE A&
300,000,000 x 14! = 300,000
O LZ o2tz 34 ZAIE2Y 2,036,000
—[=] 1,425,000,000& x 1Al = 1,425,000
— [Al] 611,000,000& x14] = 611,000
O RE=s SSxEsN F otE HESZAHL=140m) 100,000
—[&] 30,000,000 x 14! = 30,000
— [Al] 70,000,000& x 14! = 70,000
O SH&=E MXI0IS ot HE+=ZAt 70,000
—[&] 21,000,000& x 14! = 21,000
— [Al] 49,000,000& x 1Al = 49,000

1,968 6,353 A 4,385(03 A& 20|

O o= dHl & &4 1,000,000,000& x0.63%x1/6 = 1,050
O FEL S0l La2=Z E3AR 114 1,190,000,000& x0.36%x%1/6 = 714




[ Bt ]
B (200) HEHKS & © (230) SHXAFE NIEt : (234) PES S : (401) AI&HIL 24| COEE-E)
EI- g 0;" Al OH Il_-l Lj E 2t At = jl
= = i
e s N B I R =
O9HE SERSHD & 5145 HELTAS 12
170,000,000& x0.72%x1/6 = 204
260 53,080,388 | 55,005,399| A 1,925,011
BIDIE SHI TS 1080, 005, 925,
261
244 Z0I KA 53,080,388 55,005,399 | A 1,925,011
401 21,900,388 31,365,399 A 9,465,011
NETEETT 900 365, 485,
21,140,366 30,280,000 A 9,139,634 01 A& H|
O Bt I HBHAHEIAlL 214 7,591,000
— [=] 5,801,000,000& x 14! = 5,801,000
—[&] 250,000,000& x 14 = 250,000
— [AI] 1,540,000,000& x 14! = 1,540,000
O FPEL ME, 4Y o2 2 F| 2,447,000
— [=] 1,698,000,000& x 14! = 1,698,000
— [AI] 749,000,000& x14] = 749,000
O Sl ote=22 JH| 6,010,000
— [=] 4,223,000,000& x 14! = 4,223,000
— [Al] 1,787,000,000& x14] = 1,787,000




g 1 (260) HIDISEHIXIAFS ME @ (261) HAESQIXHA £ (401) AIEHIZL 2] (Sl - HJ)

Ol &F o g i ;j; = 2 O
O &24dA £ ot=2=2 JH| 616,000
— [=] 500,000,000& x 1Al = 500,000
— [Al] 116,000,000& x 14! = 116,000
O & ZEoIEXEIAE &4 4,000,000,000& x 14! = 4,000,000
O 2ol 22 F=H ol=22 HH|(HH &L ZAHI) 420,000,000& x 1A = 420,000
O Hol HAHel ol=22 ZHIZA AAEH =4 1,729,000,000€ x3.26% = 56,366

750,000 1,050,000 A 300,000 (02 Zcltl

OFEZL &E A4H L ol st 2HH| 28X 250,000,000& x 14! = 250,000

O 243 = ot 2 8H| 22EY 100,000,000 x 14! = 100,000

O & B3ot=HelAd 54 Zelgd 400,000,000& x 14} = 400,000
10,022 35,399 A 25,377103 NE=E 1]

TEL &4FE A ol=2Z ALY 2,477,000,000& x0.36%x1/6 1,487

SoHH ot=2tZ HHIAY 6,010,000,0008 x0.25%x1/6 = 2,505

O
O
O 2483 ==} ol=2=2 FUIAIY 616,000,000& x0.63%x1/6 = 647
O & Z3ot=HelAL S& 4,000,000,0002x0.27%x%x1/6 = 1,800
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